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11feb13: compare cb source before, after install za error vs za

30
20

10

0

zaErr [asecs]

-10

-20
-30

\\H\HH‘\HH\H\‘HH\HH‘H\\H\H‘HHHH\‘HH\HH
X

*
K
ZiS
H
HH\HH‘H\\H\H‘\\HH\H‘\HHHH‘HHHH\‘HHH\H

o
a

10 15

+B0B00+219_feb13 za

%BO6OQ+2197JO@@5W Mean: —5.06 Rms: 3.52
azkrr Mean: —0.58 Rms: 3.28

N

Za error vs az

30 ‘
20
10

0

zaErr [asecs]

-10

-20
-30

\

\

[

[

\

\

[

[

\

\

\

0 100 200
az

az error vs za

30
20

10

R %
¥%¥%§¥g’§%¥%%§g X+ . Re %e W Xe X
-10

-20
-30

azErr [asecs]
o
\\H\HH‘H\H\\H‘HHHH\‘\H\H\H‘HH\HH‘HHHH\

o
o

10 15
za

N

az error vs az

30
20

10

-10

-20
-30

azErr [asecs]
o
\\H\HH‘H\H\\H‘HHHH\‘\H\H\H‘HH\HH‘HHHH\

\

\

[

[

\

\

[

[

\

\

\

0 100 200
az




FEET feed_north

feed_south

500

200

100

—=100

—200

* Jan13
* Feb13

11feb13: compare cb source before, after install
\‘\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\‘\\\\\\\\\

Q.

@

O
‘\j\\\\\\\‘\\\\\\\\\‘

o
By
(@)

J1

O -
a
N
‘\\\\\\\\\‘\\\\\\\H‘hw‘\\\\\(@)\\\‘\\\
N

—-300 —200 —100 0 100 200 300
feed_west(rising) FEET  feed_east(setting)




